NB SIGNATURE SLEEK COLLECTION
— SERIES — Mesh-Back Chair

A. Mesh Back B. Seat C. Mechanism D. Chair Arms E. Cylinder F. Base G. Casters H. Screw 3/4" I. Screw 1 1/4"
QTY 1 QTY 3 QTY 1 QTY 2 QTY 1 QTY 1 QTY 5 QTY 4 QTY 3
OPTIONAL
° g
Emmmm g 1 E—
\ °
=
J. Screw 2 1/4" K. Washer L. Washer M. Allen Wrench N. Bracket 0. Headrest P.Screw 3/4 Q. Allen Wrench
QTY 6 QTY 1 QTY 3 QTY 1 QTY 1 QTY 1 QTY 2 QTY 1
Step 1: Attach the mechanism (C) to the mesh back (A) using Step 2: Attach seat cushion (B) by using the Step 3: To attach the chair arms (D), use the
the bracket (N) and the following components: (M), (1), (K), (N). Allen Wrench (M) to secure screws (H) and ()). Allen Wrench (M) to secure screws (J) to the seat.
NOTE: Easiest to assemble upside down. May help to use box
for support.

i T
C__1PCS | i Y
N 1PCSHPFK S

N

LR
5]
PN
‘ 0’0‘0‘0’0’0‘0’0‘
& 2 R
X X %o \ RN
% % BIRIAURIRKIAXN
o0 220% BRI
SO X '0.0.0.0.0.0.0.0.0. Y
A 1 PCS X X XX | et tetetetetetetod
____________ XKL SRR L osesessyereteseses
| %o% QKL \ RIRRRRRK
RIS \ g RIS
&S % R8RS |\ 9307050.0°0°0°00
X Q 900! RXHRRRKAKS
& NRRXRRE
‘x" 02 {\:’o’o’o:y
Step 4: (OPTIONAL) If attaching the headrest (O), Step 5: First, Press casters (G) into base (F). Attach
use screws (P) and Allen Wrench (Q). cylinder (E) to base (F) by using 2 people to lift the

chair body onto the gas cylinder.

)

oo
oo
%

%

5
5
235

%
R
X

0
0o
88

Oaa e rsreorss

Warnings

1. This product should be used only one person at a time. 57506
2. Do not use this chair unless all bolts, screws and knobs are securely tightened.

3. Save spanner wrench. Check that all bolts, screws and knobs are tight every three months or as needed.

4. Dispose of packing material properly. Do not use the plastic cover as a head covering. It may cause suffocation.

5. Do not use the chair as a stepladder. Use this chair for its intended purpose only.





